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All offsets are in units...
0.1% for momenta/energy, 1 mrad for angles

Garth’s 5 beam energy global offsets

E: 3834.9| 4932.0| 6190.3| 8208.8| 10585.4 MeV
dE: -0.5000 | -0.0000 | -0.5000 | -0.2000 | -0.3000

All energies...
dthe 1.0000 dpe -0.0000 dthp 0.9000 dpp -1.0000

6arth’s 3 high beam energy global offsets \

E: 6190.3| 8208.8|10585.4 MeV
dE: -0.6000 | -0.3000 | -0.4000

All energies...
dthe 1.0000 dpe -0.0000 dthp 0.8000 dpp -1.2000

\_ J

Ebeam

10,585.37
820883
6.190.09
4.933.00
3.835.00

P_HMS P_SHMS

6,590.00
4 672.00
-3,571.00
-3,124.00
-2.026.00

4 840.00
4.371.00
3.486.00
2 583.00
2 583.00
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All offsets are in units...
0.1% for momenta/energy, 1 mrad for angles

Garth’s 5 beam energy global offsets

E: 3834.9| 4932.0| 6190.3| 8208.8|10585.4 MeV
dE: -0.5000 | -0.0000 | -0.5000 | -0.2000 | -0.3000

All energies...
dthe 1.0000 dpe -0.0000 dthp 0.2000 dpp -1.0000

My adjusted offsets (adjusted from 5-beam)

E: 38349 49320 |6190.3 |8208.8 |10585.4 MeV
dpp:-1.0000 | -1.0000? |-3.0000 | -5.0000 | -7.0000
dE: -0.5000 | -0.5000? [-0.5000 | -0.2000 | -0.3000

All energies...
dthe 1.0000 dpe -0.0000 dthp 0.2000

Ebeam

10,585.37
820883
6.190.09
4.933.00
3.835.00

P_HMS P_SHMS

6,590.00
4 672.00
-3,571.00
-3,124.00
-2.026.00

4 840.00
4.371.00
3,486.00
2 583.00
2 583.00
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dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dE -0.03%

dpp -0.7%

dpp -0.3%

pmx pmx pmx
wsH 251 25— 250
2H— 2 2 2
15 i B 15 g 15 i 15 i i
C N H] = B l C 8 s C N ¥
rC [ i C T L C ] ] C ] i
iy . . e o ﬁ Uy B . = . .
[ P E : , L : A [ A
E i - C 5 C
C ;! i C ’ ng L r ? : - ;8 ¥
15— : B 4 05— ;g = 05— : £ B 05— i 1.
E + L Iy E
C A& 1 E ra [} L ¢ % C F A
[ o ¥ F H_F,u.;:'-.,.r F & % r e &
e gt | T . ) P st TN AR O ik ! L o BRI | L L TR e e P RO DR . L
T 508 006 004 =002 0 002 004 o006 o008 01 -—01 -008 -006 -004 -002 O 002 004 006 008 01 01 -008 -0.06 -0.04 -0.02 0 002 004 006 008 01 -01 -0.08 -0.06 -0.04 -0.02 0 002 004 006 008 0.1
pmz pmz pmz pmz
sH sH 3 34
- 25H 25 25H
e f £ m
20 ¢ 2 B oM A
E ', T £ LI
15— . 15 : 15 B
E i . E .
C [ C L
C . . C B
1= ﬁ 1 1=
F / e F . f\
C L C :
E - e . E : . v
251 F o . 05 ¥y 05F ¥ 2 o %
r rd " - Y E . [}
C ol . " " C
i R . | o e MNWJ,M.LWJ,M 0 : o o Bt i \ B e J"”"T"”;,\}%--n .
! 004 006 008 ~01-01 -008 -006 -004 -002 0 002 004 006 008 01 -01 -0.08 -0.06 -004 -002 0 002 004 006 008 01 -01 -008 -006 -0.04 -002 0 002 004 006 008 0.1




dthe 1.0000 mrad dpe -0.0000 %
dthp 0.9000 mrad

dE -0.02%
dpp -0.7%

dpp -0.5%

dpp -0.3%

dpp -0.1%

W

3.5H— swonr-w —— swe.n-m 35— swonr-w 3.5H— swenree
o - | — owanr-ss oA N =58 [
= [ [E[ —— sw.wemn - oaasoeon S, MEAN - 24463001 F| —— s, mean- ausssent
2.5H —— ommavean-szrsect ! OATA MEAN - 9.4278001 ! R — ! 2.5 — owra uean-s.sreon !
 IRE— P o [— P ST £ o SRV —— B
21— . ] [ N i - i ] 21— 5 ]
E & 3 F ] i C ' 1 £ € 4
15— . - ' 5 15— f ] 15 ]
E s r D = s ' £ ' '
- / / g ¥ B g ]
1= k] 1= ki = 1 55 = n
F ¥ ¥ E ¥ E A
E r r LIS
0‘5: ’é w—,_”n e S E ‘? h, 0.5: * ‘*m
E ! ! MJLJ | | J,, E ! | | j\ |.:‘:‘I‘W‘H,‘ | | ’JLKT"""""— |
87 075 08 0.85 09 095 1 105 118 08 0.85 09 0.7 075 08 085 08 095 1.05 11 87 075 08 0.85 09 095 1 1.05 1.1
emiss emiss emiss emiss
[E—— F—swows [ E——— 5 ———
— ot TH — wmnreso 7; —— cmnrast i/ [———
= FE— F oo i ooy, T -0 | ouam -0
6 6] 6H 6
5 R——— = F— H — s uesn ssomecs H — st
e R | — ovmueersnsens o PR —E—— 1 SR ——
al H 5 : 5H ' 50 H
[ T —— | E—— If —— oo e csonse m R
a4 4 4
e E a = . v -
. 3 . 3 i 3 .
. {‘\ of of f'\ . o ‘s
-l E g b F A
H F E y E .
o 1= 1= : = ;o
E - r E o " i F e
ok ! I I I L L iy e ! ! ! ) o E | | | T bl ! TR, .
=01 008 -006 -004 -002 0 002 004 006 008 01 =01 -008 -0.06 -0.04 -0.02 004 006 008 0.1 %06 o080 0d o0s 0005 0.04 006 008 01 01 -0.08 -0.06 -0.04 -002 0 004 006 008 0.1




dthe 1.0000 mrad dpe -0.0000 %
dthp 0.9000 mrad 8p2
dE -0.02%

dpp -0.7% dpp -0.5% dpp -0.3% dpp -0.1%

P pmx pmx pmx
3.5 — oo 35 35— o
3 e inseiissinen 3 = B
H 1 H L} = e DUMMY, MEAN = 9500002 J
O ks f 25 i g5l s . 5 R i
m " T i E i oy £ i i
2 * 2 2 B
E ® " L] E i H
15 15 [- 150 s 1
: *; : i %
1= 1 [ 1= : ¥
E H E i o
05 0.5 05 ; &
-l | L . ey oFa ) vt T R | : - \ e e s L _— | | 9 X X i
004 o006 o008 01 -01 -008 -006 -004 -002 0 002 004 006 008 01 o7 _008 -0.06 -0.04 -002 0 002 004 006 008 0.1 -0 002" 004 006 008 0.1

% 008 008

pmz pmz pmz pmz
[ E—— JE—— o ——— H — swe.wr-ss
[ E———— i H— o
5H H
Il DUMY, INT - 0 ——— DUMMY. NT -0 DUMMY, INT =0 DNy, oy =1
[l SIMC, MEAN = 4 §795e.00 ——— SIMC, MEAN = 4 37966.00 ——— SIMC MEAN = 4579503 SINC, MLAN = -4.9795¢-03
4: 1 i i [} T
- R TS E— [ —— s vean-sstaess
3 i C . « C .
E : F s E B F .
E . F N F . E x
T ; ﬁ\ - = "
= & T = A
F F L £ * PO
r C - C .5
C L - e S ™ wd""’ W
) o ’ S 0 : '
T I o o A A A B Lo b b b L b b e b o o S A A
-01 -0.08 -0.06 -004 -0.02 0 002 004 006 008 01 -01 -008 -006 -004 -002 0 002 004 006 008 01 -01 -008 -006 -004 -002 O 002 004 006 008 01 _g1 008 -006 -004 -0.02 O 002 004 006 008 0.1



dthe 1.0000 mrad dpe -0.0000 % p
dthp 0.9000 mrad
dE -0.05%

dpp -0.7% dpp -0.5% dpp -0.3% dpp -0.1%

w w w w

L] 5 Ep———— - 16 SMG.INT = 287 16 T——
DATANT- 200 —— DATA.INT - 200 H DATA.INT - 200 Fl — oaramr-z00
14H 14
L SIMC, MEAN - 9.4380-01 ——— SIMC, MEAN - 9.43982.01 12H SIMC, MEAN - 0.4396e.01 12— swe.wen - aussesas
T — H — osma sean-s.e0n F|—— onma wem-somreon F| —— oxa uean- s ecn
N [ i ¥ I i 1] o
[ T — e 101 —— ou e -ssszea 10— oum e -sezrar 10/ — comme s ssatnc e
. C 5 r f r i
8 s s
. ' C . C .
i i £ i
[N} i L i 61— s 1
. 5 L 5 r
H h : £
. i = . i e
na 3 = - % E
.. L 2— "y % o
8 \ l i YN . : f ti? ! \ ) | | i ] ety E | ! | L
.7 0.75 0.8 0.85 0.9 0.95 1 1.05 11 07 0.75 0.8 0.85 0.75 0.8 0.85 0.9 0.95 1 1.05 i1 87 0.75 0.8 0.85 0.9
emiss emiss emiss emiss
[ — swewreze [l - [[| — sve nreare C| T
[ — owranre e [ oaTa T oata - 138 [l ATA T 188
25H )
201 —— oorn w2 s 20[H —— o e 20H —— oern g7 secs 20[H — ommence s
: 'DUMMY, MEAN - 38400802 H : e DUMIMY. MEAN = 4.63676-02 1 In UMY, MEAN = 33730602 i [T —— cummy. mean - 3238202 H
15— . . s " x
10— . /\ ) A 10— . [\ /\
+ g =8"% W% C o .
- s e om om: 51— LI = nilh
o : N = o
- ) :"\"‘wuu::‘hh D C PO, e
o o | | et | 1 o | | | T M il T \ |m'u'|.,%7"7‘
20470.08" -0.06 -0.04 -0.02 0 002 004 006 008 0.1 0002 004 006 008 0.1 Oitiaa i ee o604 o0n 0005 004 006 008 01 01 -008 -006 -004 002 0 002 004 006 008 01




dthe 1.0000 mrad dpe -0.0000 %
dthp 0.9000 mrad 6p2
dE -0.05%

dpp -0.7% dpp -0.5% dpp -0.3% dpp -0.1%

pmx pmx pmx pmx

14

—— ouwm. =0 12
[ —— s vean=- saoee0s

[ AT, ERN - 442258 02 10

S [ —— swo.wr=2ss —— swenTem

14

>
I
=

TTTT

oo wr=0

e, MEAN = 5 1686000

AT NEAN - 4 071600 ——— ATA MEAN =4 4400500

o
°
TTITTT

©

[ — ' JEr— ' I 1 oo s st i
X ' X "
— - 8 P s .
i C . " C x ' C . u
'S By %ot ot 8 ot
C - ™ C ™
[ F i ax = an C . ar
v - 5 an ot 4 T
e L = i a B® w=
s C 3 ., = ., s,
kY i Y e
Lot s ! I bt ! !

. el Lt el (P, S
0 002 004 006 008 01°01 -0.08 -0.06 -0.04 -0.02 0 002 004 006 008 0.1

et s ! I
0 0.02 0.04 0.06 0.08 0.1

"6.08" -0.06" ~0.04 0 7002 004 006 008 0.4

pmz pmz pmz pmz

[| —— swo.mream ) SINC. INT =268 | swac, T 280 = R
20H 20 20H
O oATA, T - 190 AT, T = 192 DATA,INT - 154 i DATA, INT = 195
1BH o {1 - 1B oo
16H NG, MEAN = 4 629003 SINC, MEAN =4 6325603 S, MERN =4 6929009 16 E UG, MEAN =4 632900
[ L] L i El '
14— e ase R — RA—— = E
121 b 121 " 12 &
£ ' = ' = x
10— 10— 10—
E s " . " E
A i3
; ’ ==
- & 3 £
R ] 4=
s e
L. 2
0 e NI S DR ] | Lol QM - o TS | ! PN - ) steaisaadsiooiion
-0.1 -008 -006 -004 -002 0 002 004 006 008 002 004 006 008 01 -01 -0.08 -0.06 -0.04 -0.02

] it e - -
ST e 5 01 0.08 -0.06 -0.04 002 004 006 008 0.4



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dE -0.05%

dpp -0.7%

dpp -0.5%

3p8

dpp -0.1%

1.1

[l SHG~T- 020 [ JEpE—— | — swe.nm-az
700 s 70,
o H — ovmiraria e Py
P N R pan—
soll OATA EAN- 028001 L s0H] OATA.MEAN =0.85001 o~ e e i AT ,
40— . 40— " 40— g .
30— "y 30— LI 30— o g 30— 2
E ' E v E W B E P
20— B 20— . 20— f 20— -
F ' E . F E '
= N % E - b E % r N %
F l 1y E . 3 E % - E " »
10— . % 10~ . ) 10— PO 10— i =
F f F ! F , \nu._.“ E !
. | I} 1 (—] ] T TR e ! ! I, WO S NN | [ ! . /) I . "y i \ doi /! TR JEPOTOR NTORPURTIRON 08 s v
87 0.75 0.8 085 0.9 0.95 1 1.05 11 0.7 0.75 08 085 09 0.95 1 1.05 11 87 075" 6.8 085 0.9 0.95 .05 11 87 0.75 0.8 0.85 09 0.95 1 1.05
emiss emiss emiss emiss
100 100 100 100
w0 L suc, rax | Swomr-am0 | —— swemroamo
& [E——— H — omroom I H — ot
P gol]— ome- PO - gol] —— s
T 1. | [ e —
o 1| ——— — 60 P—— e 1 E——
s0b— = 40— 1 40 40—
L i L
L . s ) i
L . & r > o - r i
20— "N 20— v e by 2o . 2o .5
LI L = o . L Fl
I~ e L " ] [ L L -
N | T u,._,.r“‘"““‘:k“f e | | | | W — ! ! sl PN o e ol | | | T RO e
o568 08 e od 608 e e 004 0.06 008 04 01 -0.08 -0.06 -0.04 -0.02 0 002 004 006 008 01 ~-01 -008 006 -004 002 0 002 004 006 008 01 07 -008 -0.06 -004 -002 0 002 004 006 008 0.1



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dE -0.05%

dpp -0.7%

dpp -0.5%

dpp -0.3%

3p8

dpp -0.1%

pmx pmx pmx pmx
I —— o so]— e W=
] = PR —— O— 40H —— swo e sioseas 7] I S —
30 # 30 " 30 # 30 x
C [ 21 C [ 2 C I r [
F x - B F X F f
L i - L = il F £ »
20— F 20— I 20— FE 20— y o
F v [ x N E L T F v
= N + - + B + -
C . C " C I C b .
W & " 10— H 10l = . ol s -
W“J i : : A...«"J ; s ;
o ) NIRRT g e i I RN ) — b oot PR ) R st A . . | T
- - 04 -002 0 002 004 006 008 012071 008 -006 -0.04 -002 0 002 004 006 008 0.1-01 -008 -006 -004 -002 0 002 004 006 008 01 -01 -008 -006 -004 -002 0 002 004 006 008 0.1
pmz pmz pmz pmz
(= P (] M 70H i} 70H ——
60; o o EO; e 60: DUMMY, INT =1 605 " N )
50 é [Rrenp— 0 [ 50 H RA— 50 ; [R—
= " [ H [ 1 =
o s 40—~ 40— 40— .
30— oot 30 | 30— g so0E- e
C C Lt C & C
E . 3 F - r o
20— 20— 20— o 20— S
g . 2 g 5o g g
10— . 10 . 10— . 10— P
C - = " % C --.
A =— e TR PN NI [T [ S E , MM\ e e T, - T - " R L il \ R
~01 -0.08 -0.06 -0.04 -002 0 002 004 006 008 01957008 006 004 005 0 60 0ehT 08608 04 08 -0.06 -0.04 -0.02 O 002 004 006 008 01 -01 -0.08 -0.06 -0.04 -0.02 0 002 004 006 008 0.1




dthe 1.0000 mrad dpe -0.0000 % OOP 10pé6

dthp 0.9000 mrad
dpp-0.1%
dE -0.03%

dpphi-9.23 mrad dpphi O mrad dpphi-0.11 mrad
dhphi 10.01 mrad dhphi O mrad dhphi 2.51 mrad

pmy pmy pmy
H— svowrn H— F — swe.s
o 5 —— 8 — e 5 ——
o [—— o (- F i
2.5H —— swo.vean- ssissecs 2.5 —— suc vean- s 2.5 —— swo ean-sssseos
| — MEAN | —— oata, mean - 14571602 | — MEAN
] S R = 2 —— o s szes0002 Eoow 2H —— o vem-sammen .
1 ] ' 1] q ]
!

|||\|||H|T||l|||\\||\\
\I\II’IIIITIIII'IIIlIII
TTTITIITIITIIIIIIITI

B
" L] B,
;’i.nﬂ & i‘ - ! - % -_
. L s A 0.5 N . 05 v )N
2 Y ! 5 " ,-" N "
) P - LY
__4...#""" 3 b —— T o k
0 e st W G e B o iy i
TR BT T NSRS B | L L | I o b b b b b b by L Ly o b b b by b b e b by by
-01 -0.08 -0.06 -0.04 -002 0 002 004 006 0.08 01 -01 -0.08 -0.06 -0.04 -002 O 0.02 004 006 008 01 -0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 004 006 0.08



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dpp-0.1%
dE -0.02%

dpphi-9.23 mrad
dhphi 10.01 mrad

dpphi O mrad
dhphi O mrad

pmy pmy
N S, INT - 58 F—
[ r i
H DATA, INT - 62 || —— oatamT-ze
5H 5
| DUMMY, INT -0 [ owwwv.nreo
[| —— simc. MEAN - 2.9382¢-04 || —— smc mean - 20382004
4 4H
[ DATA, MEAN = -1.51286-02 [| —— oama.mean - 1.8200.02
| —— ouy, wean - 170800 1 LI L oommo e s1ezsec T,
8 - ’c s
r 5 r B
- - - 5
2 C fl'i\r\ s 2 __ ' '
- ' & i -
= LT = ﬁﬁ\\
|- ‘\. . L !\l‘-dh-
0 & Mﬁ!’ j | ‘.ﬁ‘:\?h | | | 0 i | j | | | |
0.1 —0 08 -0 06 -0 04 -0 02 0 0.02 0.04 0.06 0.08 0.1 0.1 4) 08 4) 06 4) 04 4) 02 0 0.02 0.04 0.06 0.08 0.1

8p2

dpphi-0.11 mrad
dhphi 2.51 mrad

pmy
C SINC, INT = 99
sH
N E——
4k_
C 8 1
8 1.
: B
2__ ﬁ 1]
B LS
11— [ "y "
L L] - L] =
. iy = L™ "
r £ L)
ol ) My,
B 1y | MMM [ RN [N
-0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08 0.1



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dpp-0.1%
dE -0.05%

dpphi-9.23 mrad
dhphi 10.01 mrad

pmy

dpphi O mrad
dhphi O mrad

pmy

20— e 20 —— sz
- | — DATA, INT =217
i - DUMMY, INT = 0
I J— -
B 15 :
| DATA, MEAN = -1.3288¢-02 || DATA, MEAN = -1.3048¢-02 .
i R s | ——— s
- 5 - x n
101 ) 10— )
- ™ i L]
B - .
B 1 ]
B . .| [ .' "u »
° g L 51— st
- }. " .. L .l .. .
L K - . . L ) " F
r A C o5
o | | W oo, MJT | | | 0 et o
o e 1o L L Ly s B T L b v b b b b b b b by gy
-01 008 -006 -0.04 -002 0 002 004 006 008 O 01 008 006 004 002 0 002 004 006 008 01

OP

6p2

dpphi-0.11 mrad
dhphi 2.51 mrad

pmy

20H SIMC, INT - 321
[ DATA, INT = 217
s [E——
i - 13128002 .
- DUMMY, MEAN - -7.86500-02 8
- 8 A
10— /r\_
[ L]
5 ¥
L -; . -
B £ LT
0* — _‘,."r i i
v s L b b b e b L L
-01 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08 0.1



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad OP 4p9
dpp-0.1%

dE -0.05%

dpphi-9.23 mrad dpphi O mrad dpphi-0.11 mrad
dhphi 10.01 mrad dhphi O mrad dhphi 2.51 mrad

SIMC, MEAN - 1.3993¢.04

pmy pmy pmy
— - N ——— [— s
[ —— DATS Il DATA, INT = 1160
o) W — N I 80— oo
N SIMC, MEAN = 1.3993e-04 [~ | R e 3050 52

DATA, MEAN = 621636.03 - — DATA, MEAN - 6.1163603
60H 60}H 60H
DUMMY, MEAN = -6.15006-02 S — b e DUNY, MEAN - 1.70370.02 8
[ L] [ 5 [ [}
[ L ~ Y [ E
[ ] ~ M _ B
x x
40— 40— b 40—
- . s " - L] L [ " LI
" [
20— 20— 20—

0 .A-'"f S “""‘m-‘ 0 M""!.a"': ‘W 0 e o : “"'nmm-"

| | [ 1 ol e Ly e

PEII E e by b L by Ly v b b by b b L o L L L L b b L Ly 1
-01 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08 0.1 -0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08 0.1 -0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 006 0.08



dthe 1.0000 mrad dpe -0.0000 %
dthp 0.9000 mrad

dpp-0.1%

dE -0.05%

dpphi-9.23 mrad
dhphi 10.01 mrad

dpphi O mrad
dhphi O mrad

3p8

dpphi-0.11 mrad
dhphi 2.51 mrad

pmy pmy pmy

70 | SIMC, INT = 950 70 n SIMG, INT = 950 70 | SIMC, INT = 950

B i REEE——— m -
B0H oo ) o — B0H oo

H. e & I = I
50— ourn e asaatess 501 parn v - e 5010 oarn e asornss

[0 —— ouwmy, wean - szsace00 E - DUMMY, MEAN - -1 9387602 [0 —— oumay, wean - sssoce02
40F= i 40F= . 40F= &

B . C . E .
30— i 30— ) 30— A

C Ll ] C ) B C ¥ B

- 1 ] - TR - 1 X

r e o i r ‘s
20— ', 20— o, 20— 1.

C ' K * C ' £ . s

r . ' i L o . L
10— g 10— : F 10— & .

- - L C s [ - . LT

- g & " ~ : LX) = - : "
O R 1-¢‘T’M..I\?‘“&h- L | ibintunieckodiotling o ] | O T L ! | 0 F bbb ! -IJ‘-I-FM———I | )
201770087 0.06 -0.04 -0.02 0 002 004 006 008 0.1 201 -0.08 -0.06 -0.04 -002 0 002 004 006 008 0.1 20477008 006 -0.04 -0.02 0 002 004 006 008 0.1



Extra



dthe 1.0000 mrad dpe -0.0000 %

dthp 0.9000 mrad
dE -0.00%

dpp -0.5%

dpp -0.3%

4p

dpp -0.1%

50 = MG, INT - 1330 F[ — swo.wr- 1550 - = PE———
PR — s = P,
80 B DY INT =3 80E  sam s
70E] — swo.vem - sassreon —— e e - s.te0r 70— s wew - assaroar
DATA. MEAN = 9.4051e-01 e BATIG MERH wSCRLb Y [F| —— oata Mean - . d0s1e01
60, i 60
DUMMY, MEAN = 9.42692-01 DDUMMY, MEAN = 9.4269¢ 01 | DUMMY, MEAN « 9.4269-01
L] Ll =
50, 50— v
E L E T
. § E
40 ] 40— L
L} = "
. x . E . s
30, = 5 30 L
1 3 E N W
20 . i 20 .
4 v E %
10 o S . 10— .
| | \ el i st 8: L L \ L | l ) M<M
0.7 0.75 0.8 0.85 0.9 0.95 1.05 1.1 0.7 0.75 0.8 0.85 87 0.75 0.8 0.85 0.9 0.95 1 1.05 1.1
emiss emiss emiss
140 40 140
1o~ e a0l 120 #
H—— owamnras [ owmr s H—— owsmraa
100 S, VEM - 521670 ool S, v - 5270 100 S, vEAN = 52167603
O - P - P
60[— 60[— 60—
C B C . N [
40— al = 40— 40— %
20— Y 20 20 f e
E v u 5 e
C ; b C C ar e
9 I 1 1 1 I | 1 1 | 9 | I | | | I | 1 | 1 1 1 | 1 | 1 I |
01 008 006 004 002 0 002 004 006 008 01 -01 -008 -006 -004 -002 0 002 004 006 008 01 01 -008 006 004 002 0 002 004 006 008 0.1



dthe 1.0000 mrad dpe -0.0000 %
dthp 0.9000 mrad
dE -0.05%

dpp -0.7%

w

E 4
10— .
30— =
= %
10f- %

| ! l o S — M
ki e 0.85 09 095 1 .05 11
emiss

N
S

TI T T T TTT

80H —
60[— [\
40— -
20— "
C O
ok ) %
|

o b b b b b B b B e
-0.1  -0.08 -0.06 -0.04 -0.02 0 0.02 004 006 0.08 0.1

dpp -0.5%

dpp -0.3%

4p9

dpp -0.1%



